DMEETS DCF: VALUATION

SII;IS AND REDEMPTION
_

- “It ain’t over till its over” Yogi Berra




Back to the very beginning:

Approaches to Valuation
-1
o Intrinsic Valuation, where we try (sometimes

desperately) to estimate the intrinsic value of an
asset by using a mix of theory, guesswork and prayer.

o Pricing, where we pick a group of assets, attach the
name “comparable” to them and tell a story.

1 Contingent claim valuation, where we take the
valuation that we did in the DCF valuation and divvy

it up between the potential thieves (equity) and the
victims of this crime (lenders)



Start with a reality check: Valuing an asset is not

the same as pricing that asset
]

Drivers of intrinsic value

- Cashflows from existing assets
- Growth in cash flows

- Quality of Growth

Drivers of price
- Market moods & momentum
- Surface stories about fundamentals

(o]

Accounting

Estimates THE GAP

INTRINSIC . Is there one? /b PRICE
VALUE .E{g> If so, will it close? \li
- If it will close, what will
Valuation cause it to close?
Estimates




And most of your valuation tasks/jobs are

pricing task/jobs
-1

0 Fair value accounting is an oxymoron, and is actually
at odds with what accounting rule writers claim their
mission is. AS FAS 157 puts it, fair value

o ...the price that would be received to sell an asset or paid to transfer a liability in
an orderly transaction between market participants at the measurement date.

o This is as clear a pricing mission as any. Using DCF for fair value accounting
makes no sense
o Transaction valuations are, for the most part, require pricing, since
to get a deal done, you have to estimate a fair price, not a fair value.

o It follows that DCFs in M&A are kabuki dances, essentially reverse engineering to
a number that you can back with pricing.



Dante meets Intrinsic Valuation: Nine layers of

valuation hell.. And a bonus layer..
N S

The Wasserstein-Perella bonus layer
From aggregate to per share value?
No garnishing allowed!!

The terminal value: It’'s not an ATM

Debt ratios change, don’t they?

Are you paying for growth?
What'’s in your disocunt rate?
High growth for how long?

Death and taxes

Base year and accounitng fixaiton

(D




Layer 1: Base Year fixation....

[T T T TTT>

-_gb
o You are valuing Exxon Mobil, using the financial state(_ants of
the firm from 2008. The following provides the key numbers:

Revenues S477 billion
EBIT (1-t) S 58 billion
Net Cap Ex S 3 billion
Chg WC S 1 billion
FCFF S 54 billion

0 The cost of capital for the firm is 8% and you use a very
conservative stable growth rate of 2% to value the firm. The
market cap for the firm is $373 billion and it has S 10 billion in
debt outstanding.

a. How under or over valued is the equity in the firm?
b. Would you buy the stock based on this valuation? Why or why not?



The Wasserstein-Perella bonus layer

[

From aggregate to per share value?

[

No garnishing allowed!!

Debt ratios change, don't they?

Layer 2: Taxes and Value oo

Oo o o o o o o O

Are you paying for growth?

What's in your disocunt rate?

Base year and accounitng fixaiton

Assume tha:c you have been asked to value a company and have been provided with t ost
recent year s financial statements:

EBITDA 140

- DA 40

EBIT 100 Free Cash flow to firm

Interest exp 20 EBIT (1- tax rate)

Taxable income 80 -(Cap Ex — Depreciation)

Taxes 32 - Change in non-cash WC

Net Income 48 =FCFF

Assume also that cash flows will be constant and that there is no growth in perpetuity. What is the
free cash flow to the firm?

a. 88 million (Net income + Depreciation)

b. 108 million (EBIT — taxes + Depreciation)

c. 100 million (EBIT (1-tax rate)+ Depreciation)
d. 60 million (EBIT (1- tax rate))

e. 48 million (Net Income)

f. 68 million (EBIT — Taxes)



m The Wasserstein-Perella bonus layer
From aggregate to per share value?
No garnishing allowed!!

Debt ratios change, don’t they?

Layer 3: High Growth for how long... g

Are you paying for growth?

What's in your disocunt rate?

Base year and accounitng fixaiton

0 Assume that you are valuing a young, high grov.th
firm with great potential, just after its initial public
offering. How long would you set your high growth
period?

] < 5 ea rS Typically, the revenue growth rate of a newly public
y company outpaces its industry average for only about
five years

0 5 years

Margin by
Which 12w Nesssassssnnee Post-1.P.0. growth

revenue

Median of new issues

] yea I'S Qrowth rate  9ewverssnresssness from 1965 to 2005
exceeds
industry

............................................................................

average

0 >10 years 3 B s el

2
\:" @
1 2 3 4 5 6

Number of years after coming to market

Source: Andrew Metrick I'he New York Times



The Wasserstein-Perella bonus layer
From aggregate to per share value?
No garnishing allowed!!

Debt ratios change, don't they?

Layer 4: The Cost of Capital S

What's in your disocunt rate?

[T TT1>

High growth for how long?

0 The cost of capital for Chippewa Technologies, a US
technology firm with 20% of its revenues from Brazil, has
been computed using the following inputs:

Cost of equity = Riskfree Rate + Beta (ERP) + Small firm premium
= 5% +1.20 (5°/o) + 3% =14%
Replaced current “Adjusted” oth from Ibbotson data base, derived
T.Bond rate of 3% Beta from from 1926-2008 data

with normalized Bloomberg ERP: Stocks - T.Bonds (Arithmetic
rate of 5% average)
Small firm: Smal stocks - Overall market

Cost of capital = Cost of eqmty (Equity/ (Debt + Equity)) + Cost of debt (1-taxrate) (Debt/ (Debt + Equity)
=14% (1000/2000) + 3% (1-.30) (1000/2000) = 8.05%

rom Used market value of Company is not Used To be conservative,
above equity rated and has no effective tax counted all liabilities,
bonds. Used rate of 30% other than equity, as
book interest debt and used book

rate = Int exp/ BV value.

of debt




Some perspective on risk free rates

T.Bond Rate - Actual versus Intrinsic: 1954- 2020

20.00%

15.00%

10.00%

5.00% »
0.00% I I ‘ | | e
-5.00%

£ 44822828 3NYaa8R8e8888LeE8ESSE8R8BREH B S

mmm |nflation rate mmmm Real GDP growth  essseTen-year T.Bond rate
Ten-year T.Bond rate |Inflation rate |Real GDP growth |Intrinsic riskfree rate

1954-2021 5.59% 3.55% 2.94% 6.50%
1954-1980 5.83% 4.49% 3.50% 7.98%
1981-2008 6.88% 3.26% 3.04% 6.30%
2011-2021 2.25% 1.76% 1.70% 3.46%

Aswath Damodaran
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The Equity Risk Premium: The ubiquitous
historical risk premium

e q

o The historical premium is the premium that stocks have historically
earned over riskless securities.

o While the users of historical risk premiums act as if it is a fact (rather than

an estimate), it is sensitive to

o How far back you go in history...

o Whether you use T.bill rates or T.Bond rates

o Whether you use geometric or arithmetic averages.

o For instance, looking at the US:

Arithmetic Average Geometric Average
Stocks - T. Bills Stocks - T. Bonds Stocks - T. Bills Stocks - T. Bonds
1928-2021 8.49% 6.71% 6.69% 5.13%
Std Error 2.05% 2.17%
1972-2021 8.04% 5.47% 6.70% 4.47%
Std Error 2.44% 2.76%
2012-2021 16.47% 14.39% 15.89% 14.00%
Std Error 3.88% 4.59%

Aswath Damodaran
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The perils of trusting the past.......

24
0 Noisy estimates: Even with long time periods of history,
the risk premium that you derive will have substantial
standard error. For instance, if you go back to 1928
(about 90 years of history) and you assume a standard
deviation of 20% in annual stock returns, you arrive at a
standard error of greater than 2%:

Standard Error in Premium = 20%/v90 = 2.1%

o Survivorship Bias: Using historical data from the U.S.
equity markets over the twentieth century does create a
sampling bias. After all, the US economy and equity
markets were among the most successful of the global
economies that you could have invested in early in the
century.

Aswath Damodaran

12



An Alternative Approach
e

Modified Payout
This computation assumes that
Expected earnings/cashflow growth in next 5 years the payout ratio stays constant
Analysts were on target in 2021, with estimated earnings
of 206.38 for the year. They were projecting compunded

In 2021, earnings recovered almost entirely
from the 2020 collapse and dividends &
buybacks surged as well.

over time. If you assume that it
changes to a sustainable level

Base year cash flow (last 12 mths) annual growth rate of 6.47% a year for next five years. .
Dividends (TTM): 59.20 (given stable growth & ROE),
+ Buybacks (TTM): 88.05 the implied ERP = 4.90%
= Cash to investors (TTM): 147.24
Actual numbers v Forecasted numbers
Earnings and Cash
2019 | 2020 | LTM | 2021E 1 2 3 4 5 flows grow
Expected Earnings 157.18 | 139.76 | 190.34 | 20638 | 219.74 | 23396 | 249.11 | 26523 | 28240 |4 | @1.51% (set equal
Cash payout as % of earnings | 146.31 | 118.66 |77.36% |77.36% | 77.36% | 77.36% | 77.36% | 77.36% | 77.36% to risk free rate) a
Dividends + Buybacks = 93.08% |84.90% | 147.24 | 159.65 | $169.99 | $180.99 | $192.71 | $205.18 | $218.46 year forever.
S&P 500 on 1/1/22=
4766.18
y The last term in this
equation is the
4766182 19090 ¢ 10099 | 19271 | 20510 | 21040 | MBAGUOIS) | = oypoctod index ovel a
r B it B N e : the end of year 5
Solve for r (capturlr_\g p rice
appreciation)

You can solve for this r
either iteratively or

using the solver Minus

function in Excel

Y

r = Implied Expected Return on Stocks = 5.75%

Risk free rate = T.Bond rate on 1/1/22= 1.51%

Equals
Implied Equity Risk Premium (1/1/22) = 5.75% - 1.51% = 4.24%

Aswath Damodaran 13



Implied Equity Risk Premiums - Historical

Implied ERP and Risk free Rates
25.00%

Period | ERP + Riskfree Rate - - -
1960-2021 10.06% Expected Return on Stocks = T.Bond Rate + Equity Risk Premium
20002021 8.04‘7 Based upon how stocks are priced, this is the expected annual

2 return for the long term on stocks.
2012-2021 3.66%
20.00% | End of 2021 5.75% /
ERP of 4.24% at the end of 2021
does not look abnormal, but the
15.00% expected return on stocks of
5.75% (=1.51%+4.24%) has
not been this low in 60 years.
10.00% \
ERP
5.00%
T. Bond Rate
0.00% AL EEE
o e N N O N o o e o b e e P N
B R R e R a8 e h e R A RS R R e R R RS RS e R a8 S S5 85 S883885855855888.8
u Implied ERP (FCFE) u T Bond Rate
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And just in 2022
-

T.Bond Rate, Equity Risk Premium & Expected Return in 2021-2022

12.00%

10.00%

8.00%

6.00%

4.00%

The ERP for the S&P 500 has risen from 4.24% ON 1/1/22 TO 6.05% on 9/23/22
2.00%

N N " v
N2 v M2 v M2 v " v v " v v v A% %
S : ; & ~ : 0 : ! : : ¢ ¢ :
& 2 g 2 S » o P 9 S & & & @ < 3
N X \9 N ,»x“ N2 N NN NS RN D X \/x} X \,x“

1-Jan- 1-feb- 1-Mar- 1-Apr- 1-May- 1Jun- 1-Jul- 1-Aug- 1-Sep- 1-Oct- 1-Nov- 1-Dec- 1-Jan- 1-Feb- 1-Mar- 1-Apr- 1-May- 1Jun- 1-Jul- 1-Aug- 1-Sep- 23-
21 21 21 21 21 21 21 21 21 21 21 21 22 22 22 22 22 22 22 22 22 Sep-22
M ERP 4.20% 4.76% 4.63% 4.14% 3.99% 4.10% 3.96% 3.91% 4.21% 4.87% 4.58% 4.79% 4.24% 4.56% 4.75% 4.73% 5.14% 5.07% 6.01% 5.42% 5.45% 5.95%

mT. Bond Rate 0.93% 1.11% 1.43% 1.75% 1.63% 1.58% 1.47% 1.23% 1.31% 1.52% 1.56% 1.45% 1.51% 1.79% 1.83% 2.33% 2.89% 2.86% 3.02% 2.65% 3.19% 3.72%
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What small cap premium?

Small Firm Premium over time- 1927 -2021

100.00%
Byline: Small cap stocks did 6.56% better than
80 00% thz Tagléet, after adjusting for risk between 1927
an .
Headline: Small cap stocks did 3.4% better than the market,
after adjusting for risk between 1927 and 2021.
60 00%
The catch: Small cap stocks did 0.45%
worse than the market, after adjusting
40 00% |
20 00% /\

. A A

Small Firm Return - Average for market, adjusted for risk

T T T T T T T L L I N A U A T T
~ o v O AERARA] N v — N Vit ¢ v~ vy a3 [sg) — o —
N o o q <t <t v O O O O P | Sl ol OO 0O 0, (o =) o O — [\
D\ N O d [o)Ne) R NN =)} [*)We) W) Ne) Ne i« [)We) We) Ne NN [o) W) o O O = o O O S
— — — = — — e e e e e = — — e — — AN AN A (e\| AN A AN N
-20.00%
-40.00%
Year
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Beta: Regression vs Bottom Up
I

Beta of Equity
l

R Top-Down R2: Bottom-up

Proportion of 1. Identify businesses that firm is in.

sk that is not 2. Take weighted average of the
diversifiable unlevered betas of other firms in the
business

3. Compute the levered beta using the
firm’s current debt to equity ratio:

B1=Pu [1 + (1-tax rate) (Debt/Equity)]

Slope = Beta

Intercept - Rf (1-Beta) = Jensen’s Alphg

Bm

17



The Correct Cost of Capital for Chippewa
N

Input What was used... What should have been used...

Riskfree Rate Corrected treasury bond rate = 5% Actual treasury bond rate = 3%

Beta Bloomberg adjusted beta = 1.20 Sector average adjusted beta = 1.60
(Based on small cap companies in sector)

Equity Risk Premium | Ibbotson premium =5% Updated implied ERP = 6.5%

Other adjustments to | Small cap premium = 3% No small cap premium

cost of equity Country risk adjustment = Lambdagraz *
Brazil CRP = 0.26*6.77% = 2.28%

Cost of equity 5%+ 1.2 (5%) + 3% = 14% 3% + 1.6 (6.5%) + 2.28% = 15.68%

Cost of debt (pre-tax) | 3% 3%+6% (based on synthetic rating)=9%

Tax rate Effective tax rate =30% Marginal tax rate = 40%

Cost of debt (after- 3% (1-.3) =2.1% 9% (1-.4) =5.4%

tax)

Debt ratio Book ratio: Liabilities=50% Market ratio: Interest bearing debt = 30%);

Equity=50% Equity= 70%
Cost of capital 14% (.5) + 2.1% (.5) =8.05% 15.68% (.7) + 5.4% (.3) = 12.60%

18



Layer 5: The price of growth..

ided
by the management of the firm, for use in valuation

o You are looking at the projected cash flows pr

Year Current 1 2 3 4
Growth rate 10% 10% 10% 10%
Revenues $100.00 $110.00 $121.00 $133.10 $146.41
EBIT (1-t) $30.00 $33.00 | $36.30 $39.93 [ $43.92
+ Depreciation $15.00 $16.50 $18.15 $19.97 $21.96
- Cap Ex $18.00 $19.80 $21.78 $23.96 $26.35
- Chg in WC $3.00 $3.30 $3.63 $3.99 $4.39
FCFF $24.00 $26.40 $29.04 $31.94 $35.14

0 What questions would you raise about the
forecasts?

19



allowed!!
The terminal value: It's not an ATM
‘ ‘ [ ] [ ] ’ ’ D&l ratios change, don't they?

[ ]

[ ]
What's in your disocunt rate?
High growth for how long?
Death and taxes

0 You have been asked to value Hormel Foods, a firm
which currently has the following cost of capital:

O Cost of capital =7.31% (.9) + 2.36% (.1) = 6.8%

0 You believe that the target debt ratio for this firm
should be 30%. What will the cost of capital be at
the target debt ratio?

o Which debt ratio (and cost of capital) should you use
in valuing this company?

20



Layer 7: The Terminal Value

0 The best way to compute terminal value is to

. Use a stable growth model and assume cash flows grow at a fixed
rate forever

». Use a multiple of EBITDA or revenues in the terminal year
. Use the estimated liquidation value of the assets

o You have been asked to value a business. The business expects to S
120 million in after-tax earnings (and cash flow) next year and to
continue generating these earnings in perpetuity. The firm is all
equity funded and the cost of equity is 10%; the riskfree rate is 3%
and the ERP is 7%. What is the value of the business?

o Assume now that you were told that the firm can grow earnings at
2% a year forever. Estimate the value of the business.

21



All good things come to an end..And the
terminal value is not an ATM...

This tax rate locks |
forever. Does it make
sense to use an
effective tax rate?

EBITh+1 (1 - tax rate) (1 - Reinvestment Rate)A/

Are you reinvesting enough to sustain your
stable growth rate?

Reinv Rate = g/ ROC

Is the ROC that of a stable company?

Terminal Valuepn =

Cost of cap|ta| Expected growth
rate

ThIS growth rate should be
This is a mature company. less than the nominal
It's cost of capital should

rowth rate of the econom
reflect that. 9 y

Myth 5.1: The Myth 5.2: The Myth 5.3: The Myth 5.4: Your Myth 5.5: If your
only way to perpetual growth growth rate is growth rate terminal value is a
estimate terminal model can give your biggest cannot be negtive high proportion of
value is to use the you an infinite driver of terminal in a perpetual your DCF value, it
perper:‘uoa:’l e@il‘OWth value. value. growth model. is flawed.
E(CF) E(CF) E(CF,) Terminal Value,
Value of an asset with life > n years =
e (7™ W TPY et L v
Truth 5.1: The Truth 5.2: Not if Truth 5.3: Growth Truth 5.4: Growth Truth 5.5: The
terminal value growth forever is is not free & can be negative terminal value
can be based on capped at the increasing growth forever & is often should be a high
annuities or a growth rate of the can add or more reflective of percent of value
liquidation value. economy. destory value. reality. today.

Aswath Damodaran




From aggregate to per share value?
o o No garnishing allowed!!
° ° The terminal value: It's not an ATM
Debt ratios change, don't they?
L] L]
G E t Are you paying for growth?
a r I I I S I I I g e C o000 What's in your disocunt rate?
High growth for how long?

o For a firm with consolidated financial statements, you have
discounted free cashflows to the firm at the cost of capital to arrive
at a firm value of S 100 million. The firm has

O A cash balance of S 15 million
o Debt outstanding of S 20 million

O A 5% holding in another company: the book value of this holding is $ 5
million. (Market value of equity in this company is S 200 million)

O Minority interests of S 10 million on the balance sheet
0 What is the value of equity in this firm?

o How would your answer change if you knew that the firm was the
target of a lawsuit it is likely to win but where the potential payout
could be S 100 million if it loses?

23



Layer 9. From equity value to equity value ger-—-
share

o You have valued the equity in a firm at S 200 million.
Estimate the value of equity per share if there are 10
million shares outstanding..

0 How would your answer change if you were told that

there are 2 million employee options outstanding,
with a strike price of S 20 a share and 5 years left to

expiration?

24



The Wasserstein-Perella bonus layer
From aggregate to per share value?
No gamishing allowed!!

The terminal value: It's not an ATM

Layer 10. The final circle of hell...

Are you paying for growth?

What's in your disocunt rate?

High growth for how long?

Exhibit 8
PROJECTED CARBORUNDUM PA cl N\-\r STED T ((F cr .’:}:\ ;l ISITION OF CARBORUNDUM BY KENNNECOTT
y E I ( UNDU
J ANY FINANCIAL DATA ADJUSTED TO REFLECT TH:
RO JEC o N CoM e :
($ millions except for per share and ratio data)

1977 i = o y )81 1982 1983 1984 1985 1986 1987
Unadjusted  Adjustmenss  Adpusted 1978 1979 1980 1981
112 265.5 $1,392.1 $1,531.3 $2,038.1
Income staternent S $790.1 $885.9 $1,005.2 $1,129.9 $1,26! 392.1 $1,331.3 1964
ks $N17.6 50.7 60.1 70.6 84.7 932 1025 154
Net income (before adjustments) ... 38.4 7.8 85 9.2 98 107 117 20
[nterest adjusement: 0 2.0 20 2.0 2.0 2.0 2 0 26
Goodwill adjustments o 2 2.8 28 28 2.8 RETTT
Plant write-up adjustment _0 $aT. 3 48 33566 3 701 $ 777 § 860 6.2
Net income (after adjustments) $38.4 s
Balance sheet e R e 7 $4261 $465.0
$198.8 { T 000 $1958 $2009 $2230 $2481 $2742 $3028 $3293 $3586 $390.7 $426.1 84
Y orkiny cHpil ( = 1400 = 2 L 4116 4375 4666 4991 5356 5761
181.8 + 124.0 305.8 334.2 367.4 384.6  400. iy 280 66.0 64.0 6.0 60.0
Property, plant, and equipment § 124 = s 76.0 740 72.0 70.0 68, 4 X e
S 0 + 800 e 7.0 1,0658 1,135.5 12131 1.299.0 1394.6 1,500.
Spodml s E L0 RLTTEYS | dato. 6999 . oM AL L0070 A 008 T s
Total assets S AP RN A AN .3 186.2 2209 2388 2529 2668 280.1 7 - s 6157 7260
86.2 + 100.0 .4 = 054 5202 553.0 5896 630.3 73.7
Long-term debt . 4100 4101 4435 4697 49" s 7 b 39.6 1,117.0
¢ ety y 3090 + 1010 g o 762.2 8003 83507 907.1 969.7 1,039. '
Shareholders’ equity .. =l + 2010 596.2 631.0 682.3 722.6 762.2 .3
Total capital ¥ il
» o 45.4  $50.3
Capital sousces $01 $334 $262 $257 $248 $328 $366 340; $ 5— 2
Profit retentions L 15 2Ry % : k-
Capital contributed by Kennecott 147 _176 _198 219 243 S
Debt financing (net) P $50.4 $564 $626 3699 77.
Toral capital added
S 3 Z 24 12,0 10.0 10.0 10.0 10.0 10.0
Key financial ratios 69 10.1 12 13.5 12. 2. =3 1.26 1.30 1.33 1.36
Growth rate in sales (%) : 11‘ s s 096 1.00 1.06 112 119 1--;( 0'5*6 0056 0057 0.057
Sales/assets......... -~ - 0.040 0043 0047 0050 0.035 0.056 .03 S 2.06 2.07
. 054 P 202 2.0% 2.05 2.05 2.06 2. 2.
Profit/sales. . . .. S 2.01 2.01 2.02 T4 G145 0451 0156 0160
Assets/net worth . A28 0078 0086 0100 0114 0135 0.141 O
Profit/net worth vee g
e RSV
Cash flow to Kennecote
Acquisition of Carborundum ... $(350.0)
Dividends to Kennecorss. . . . .. s 140.0 $3L7 $ 47 $20.6 $309 $45.3 $44.9 3$49.4 $54.4 $5988 659
Utilization of Kennecort tax loss
carryforwardse : p A - 20.0 20.0 — — - - i — =
Tax shelter from plant write-up adjs . . 2.8 2.8 2 2.8 2.8 28 2.8 28 2.8
Terminal value at 10 times earnings’ 1,044.9
Net cash flow $(4100) $345 8275 234 8337  gasa $47.7  $522  $57.2  $62.6 $1,113.6
Assumptions S
‘Keanecoet would pay $350 million to acquire Carborundum’s ?my which had a book value of $309 million. The $241 million in gxcess of purchase price over book value of assets
acquired would be allocaced as follows: (2) $37.0 million would be a ded t0 inventory to reflect the replacement cost of inventorties; (b) $11.0 million vonhfbe 2dded to land to reflect the
market value of land; (c) $113 million would be added to net plant and equipment to reflect the depreciated replacement cost of plaac and equipment; and (d) $80 million would be added
t . Immediacely following the i of Carbe [¢ borrows $100 million 1nd then pays a $140 milli
with the $100 million plus $40 million of Carborundum's excess cash.

*laterest ac the rate of 10 (5% after taxes) is paid on the difference berween the amouat of Carborundum debt oucstanding in Exhibic 8 2nd the amount of debt assumed to be outstand-
ing in Exhibic 5. In Exhibic 8, it is assumed chat Carborandum will have 35% debc in its toual capital seructure after 1977,

The $80 million of goodwill created a3 a result of the acquisition is amortized over 40 years. This expense is aot @x-deductible.

The $113 million write-up of plant and equipment is depreciated over a 20- reduction in profic after taxes and an increase in cash flow equal to ($113/20) x .5, It
is assumed that zh;ls(added cash fl

year life, providing s

low is paid to Kennecorr as dividends.

.r'%dends 0 Kennecort equal che difference een bodmndum's net profit (after adjusement) and l(’hc profit retention requirements needed to suppore Catborundum’s growth.
an x credic d: il

illion dividend to Kennecotr. This dividend is financed

Cal
e utilization of $40 million of tax loss i n [ available o Kennecott are assumed to be utilized 25 & result of the Carborundum ac-
quisition and chat these would expire unutlized without the acquisition.

*Casl dum is assumed to be sold ac Lhé:m jon yeazs at a price equal to ten times eamings. The proceeds from chis sale,

1 $1,162 million, are reduced by $117.1 million as a result
of taxes on the capital gain of $1,162—$726. dum’s net worth at 12/31/87 is assumed to be $726 million.
Sources: Exhibic 3 and casewriter projections.

Cost of Equity Cost of Capital
Kennecott Corp (Acquirer) | 13.0% 10.5%

25
Carborandum (Target) 16.5% 12.5%




Valuation is simple. We choose to make it
complex!

4

Value of growth
The future cash flows will reflect expectations of how quickly earnings will grow in the future (as a positive) and how much the
company will have to reinvest to generate that growth (as a negative). The net effect will determine the value of growth. The
expected cash flow is computed as net of taxes and reinvestment:
Expected Cash Flow = E(CF ) = Expected After-tax Operating Income in year n - Reinvestment in year n

Cash flows from existing
assets J

Terminal Value
The base earnings will E(CF)

: . E(CF,) E(CF;) Terminal Value, |<] This is the value that you attach to
reflect the earnings power Value of Business = 151 1+ T3 +

of the existing assets of A G

the firm, net of taxes and

any reinvestment needed Going Concern Value. —
to sustain the base g n =
earnings.

the business at the end of high
1+n)" growth. It can be a liquidation or
going concern value.
E((:Fn+ 1)

r—g

Cost of Capital
The cost of capital can be affected by the tax code, if it tilts towards debt over equity or vice versa. In much of the world, debt creates a
tax benefit, because interest is tax deductible and the tax savings are at the margin (at the marginal tax rate).

Risk adjusted Discount Rate = r = Cost of capital = Cost of Equity (Equity/(Debt+Equity) + Cost of Debt (1-t) (Debt/(Debt+Equity)

Going Concern Va
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But here’s why valuation fails — The Bermuda

Triangle of Valuation
N S

Valuation First
Principles &
Good Sense

Uncertainty & the Unknown
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